
Ključ za odgovore ispita iz Fizike  jesenski rok državne mature 2016.   
1. C    7. A    13. C    19. B    
2. C    8. D    14. A    20. B    
3. D    9. A    15. D    21. D    
4. A    10. B    16. D    22. A    
5. D    11. A    17. C    23. B   
6. C    12. C    18. B    24. C    
 
  
25. 

 
  
2 boda  

 

  
ഥ ݒ  = ∆௦

∆௧  =  ௦ೠೖ
௧ೠೖ  

 
ഥ ݒ = 40 ୩୫

୦    
 

 1 bod 
 1 bod 
  
 26. 2 boda    ݌ = ௔݌   + ℎ   ℎ݃ߩ  = 40,5 m   

 

 
1 bod  
1 bod 
 27. 2 boda 

 
 

 ܳ =               ݐ∆ ܿ ݉ 
 ܿ = 284,09  J/kgK                                         
 

 
1 bod  1 bod 

28. 2 boda    
ܤ = μ଴ ேூ

௟      
ܤ  = ∙ ߨ4  10ିଷ T    
 

 
1 bod  
 1 bod 
 

29. 2 boda    
= ܫ  ௉

ௌ  
 
= ܫ   10ହ  ୛

୫మ 
 

 
1 bod   
1 bod  
 



30. 2 boda  
  

  ௜ܹ  = − ܧ                            ௞ܧ 
 
  ௜ܹ  = 3.2 ∙  10ିଵଽ J = 2 eV               
 

 1 bod 
 1 bod 

 31. 
 4 boda 
 

 

௧௥ܨ  = ܨ  i ݃݉ߤ = = ௧௥ܨ  ܽ݉  ܨ
ܽ = ݒ∆

ݐ∆  
= ݐ 2,5 s 

1 bod 
1 bod 1 bod  
1 bod 
 

 32. 
 4 boda  

  ΔV  = V2 – V1 = 6 dm3 ܹ = = ܳ    ݂ܽܽݎ݃ ݀݋݌ݏ݅ š݅݊ܽݎݒ݋݌ ݈݅݅  ܸ∆ ݌  ∆ܷ + ܹ     ∆ܷ = 140 J     
 

 1 bod 1 bod 
1 bod 1 bod 
 
 33. 4 boda 

  
ݍ  = ௤ಲା௤ಳ

ଶ    
ܨ = ݇ ∙ ௤మ

௥మ       
ܨ = 2.25 ∙ 10ି଻N     
odbojna sila 

 
1 bod 1 bod 1 bod 
1 bod 
 

 34. 
 4 boda  

 
 

 1
ܽ  +  1ܾ  =  1

݂ 
ܾ =  −12 ܿ݉ −ܾ
ܽ  = ′ݕ 

ݕ  
ᇱݕ = 2,4 ܿ݉ 

 
1 bod  
1 bod 1 bod  
1 bod  
  

35. 
 
4 boda   

   
ߣ = ୪୬ ଶ

்      
ܣ = ߣ ∙ ܰ     
 ௠
ெ  =  ே

ேಲ 
ܣ  = 3.7 ∙ 10ଽ Bq       
 

 1 bod 
1 bod  
1 bod   
1 bod 

 


